PR Received dated 8 Feb 2016 - 14 Feb 2016

Offices Supplies & Consumble Parts

Post Dated 15 Feb 2016

Serial PR No. Do‘:::::nt Item Code PR Line Description PR Qty Unit Buyer B:iy::r EMAIL ADDRESS PR Status RFQD(;::(:Iing
1 11601132 11-Feb-2016 CONZZ05907 N-HEXAN (2.5LT/BLT ) 8.00( Bottle PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 23-Feb-2016
2 11600961 9-Feb-2016 CONZZ13981 SODIUM HYPOCHLORIDE 10% 100,000.00( Kilograms PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 23-Feb-2016
3 11601119 10-Feb-2016 CONZZ30552 HDPE SHEET THK=1MM.,WIDTH=8M. 13.00| Metres PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 23-Feb-2016
4 11600910 9-Feb-2016 STA3000410 ;%OzgigﬁiH;—Kﬁng%Engio MM. COVER WITH L=15 M. THICKNESS 0.50 80.00| PIECES PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 23-Feb-2016
5 11600285 12-Feb-2016 CONZZ06701 U-BOLT WITH NUT DIA.1/2" (GALV.) 50.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
6 11600996 12-Feb-2016 CONZZ06701 U-BOLT WITH NUT DIA.1/2" (GALV.) 50.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
7 11600820 9-Feb-2016 CONZZ06743 FLAT WASHER (STEEL BLACK)M6 20.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
8 11600599 9-Feb-2016 CONZZ06776 BOLT&NUT HEX.HEAD M10-1.5x20 mm.(CLASS 8.8) 60.00 Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
9 11508932 12-Feb-2016 CONZZ08014 BOLT HEX.HEAD M20-2.5x70 mm.(CLASS 8.8) 50.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
10 11600997 12-Feb-2016 CONZZ08014 BOLT HEX.HEAD M20-2.5x70 mm.(CLASS 8.8) 60.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
11 11601222 13-Feb-2016 CONZZ08083 SOCKET HEAD CAP SCREW  M6-1.0x80 mm. 50.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
12 11600282 9-Feb-2016 CONZZ08596 BOLT & NUT HEX.HEAD M5-0.8x15 mm. 50.00 Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
13 11600305 9-Feb-2016 CONZZ15144 BOLT&2NUT 7/16""-20UNFx1-3/4""LG. (CLASS 10.9) FOR FANTUZZI 20.00 Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
14 11600840 9-Feb-2016 CONZZ16421 U-BOLT WITH NUT,WASHER DIA.2" END THREAD M12 10.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
15 11600893 12-Feb-2016 CONZZ16982 BOLT HEX.HEAD M8-1.25x12(GALV) VENTILATION SYSTEM 100.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
16 11601042 12-Feb-2016 CONZZ19172 BOLT HEX.HEAD (STAINLESS)M10-1.5x20 50.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
17 11600893 12-Feb-2016 CONZZ19336 BOLT&NUT HEX.HEAD (GALVA)M 6x30 MM.+WASHER+SPRING 100.00 Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
18 11601035 12-Feb-2016 CONZZ28587 BOLT HEX.HEAD (STAINLESS)M16-2x70 mm. 25.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
19 11600855 9-Feb-2016 CONZZ29205 g;:?"l'\‘ (I)’\IiSFE,ARI;II—TIL_JOZ(Z:T NUT M10-1.25 (P/N.2900.080.0008) FOR PROPELLER 10.00 Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
20 11600751 9-Feb-2016 CONZZ30101 U-BOLT REAR (aunsnuay) i1 (LOCO) 22x152x17" FOR TRAILER#1-10 30.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
21 11601101 12-Feb-2016 CONZZ31591 ggE;L’iEGHEDACDMI\gi‘g: ?YL;\:SME_SM(DV;I_LE;EH 109 MM.) FOR LOCK HUB 1.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
22 11601224 12-Feb-2016 CONZZ31816 mnihena 300.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Feb-2016
23 11600985 12-Feb-2016 CONZZ02678 LAMP TANGSTEN HALOGEN 220V 500W "PHILIPS" 35.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Feb-2016
24 11600736 9-Feb-2016 CONZZ09141 INSULATED TERMINAL RING RF2-6 (2.5 SQMM.) 200.00| PIECES THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Feb-2016
25 11600836 9-Feb-2016 CONZZ19448 SEAL O-RING P/N 9M3786 FOR WATER PUMP OF KRESS 1.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Feb-2016
26 11601038 12-Feb-2016 CONZZ25503 GASKET P/N.10.G12.180051 FOR BRAKE ASSEMBLY OF FANTUZZI 2.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Feb-2016
27 11601085 12-Feb-2016 CONZZ29153 RT-29 SEAL I/S NEOPRENE HARDNESS60-65 SHORE A 2.00| PIECES THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Feb-2016
28 11509589 12-Feb-2016 CONZZ31590 EEYSTSAFF DC MOTOR 19x105x11.5 MM. FOR DC MOTOR TYPE MD808- 1.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Feb-2016
29 11600890 12-Feb-2016 CONZZ11997 ANGLES STEEL JIS G 3192 DIM 30x30x3 mm L=6 Mtr 10.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 23-Feb-2016
30 11601039 12-Feb-2016 CONZZ25526 FLEXIBLE CONTAINER BAG (JUMBOBAG)90x90x120 CM 300.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 23-Feb-2016
31 11600992 12-Feb-2016 CONAZ00004 KEROSENE OIL(BLUE) hsfufie 100.00 Pip CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 23-Feb-2016
32 11600754 9-Feb-2016 CONAZ09495 FREON R-134a (1 DRUM = 56 KGS.) FOR FAN & KRESS 56.00( Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 23-Feb-2016

Page 1 of 3




PR Received dated 8 Feb 2016 - 14 Feb 2016

Offices Supplies & Consumble Parts

Post Dated 15 Feb 2016

Serial PR No. Do‘:::::nt Item Code PR Line Description PR Qty Unit Buyer B:iy::r EMAIL ADDRESS PR Status RFQD(;::(:Iing
33 | 11600824 | 9-Feb-2016 | CONZZ06148 |PAINT BRUSH 3" 83.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 23-Feb-2016
34 | 11600994 | 12-Feb-2016 | CONZZ06400 |ABRASIVE COATED NO.80 DIA.100x16 mm.(DISK COAT) 80.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 23-Feb-2016
35 | 11600597 | 9-Feb-2016 | CONZZ06424 |DISTILLED WATER 60.00| Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 23-Feb-2016
36 | 11600849 | 9-Feb-2016 | CONZZ06425 |"SONAX" MOS 2 OIL NO.301 20.00| can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 23-Feb-2016
37 | 11600598 | 9-Feb-2016 | CONZZ06481 |PAPER GASKET THICKNESS 0.8 MM FOR VEHICLE 20.00| Feet CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 23-Feb-2016
38 | 11600995 | 9-Feb-2016 | CONZZO06498 |WELDING ELECTRODE"GEMINI"AWSE7016 DIA.2.6 LD52 140.00| Kilograms | CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 23-Feb-2016
39 | 11600839 | 9-Feb-2016 | CONZZ18363 |AIR HOSE ID.3/8™ 400 PSI 100.00| Metres CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 23-Feb-2016
40 | 11600852 | 9-Feb-2016 | CONZZ28980 |THINNER NO.31 (wand EPOGUARD) TOA 21.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 23-Feb-2016
41 11600955 | 9-Feb-2016 | CONZZ31708 “;:?Z’g“;,cg)mw"sz P 60 GRIT DIA.350 MM. DISC ZICRONIUM OXIDE (1 1.00| Pack CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 23-Feb-2016
42 | 11601228 | 13-Feb-2016 | STA2001111 |donsdusiudou (#22) aruwn 0.7 wn. 1w 4' * 8' (1219mm.* 2438mm.) 20.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 23-Feb-2016
43 | 11601112 | 10-Feb-2016 | STA1004205 |wilafiadiuw NIKKAN TEKKO SHINBUN 3.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 23-Feb-2016
44 | 11600972 | 10-Feb-2016 | STA2000004 |NAME CARD A wuu 2 8 100.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 23-Feb-2016
45 | 11600712 | 9-Feb-2016 | CONZZ08177 |INSULATED TERMINAL SPADE (Y) YF 2-4 100.00| Each SAKHAN, MISS PHONNAPAT BSP | phonnapatsa@ssi-steel.com | INCOMPLETE 23-Feb-2016
46 | 11601050 | 12-Feb-2016 | CONZZ11570 ISSSQSRSIEASTP}SSEfEYFZ:Z:%é.1201;6\/55%_2;:{'121;3&)3;\1(DF19F$C24NU$ FANTUZZ1 4.00] Each SAKHAN, MISS PHONNAPAT BSP | phonnapatsa@ssi-steel.com | INCOMPLETE 23-Feb-2016
47 | 11600841 | 9-Feb-2016 | CONzziates [FiTTING BSP FEMALE SWIVEL STRAIGHT THREAD 1/2-14 (08-08) FOR 5.00| Each SAKHAN, MISS PHONNAPAT BSP | phonnapatsa@ssi-steel.com | INCOMPLETE 23-Feb-2016
48 | 11601244 | 13-Feb-2016 | CONZZ24509 |LAMP FOR FLASH LIGHT BATTCHARGER TYPE BB-HL-6V 6W 20.00| Each SAKHAN, MISS PHONNAPAT BSP | phonnapatsa@ssi-steel.com | INCOMPLETE 23-Feb-2016
49 | 11601239 | 13-Feb-2016 | CONZZ25424 |RELAY BOSCH 12V.(5 LEGS) FOR ELE.SYSTEM OF FANTUZZI 10.00| Each SAKHAN, MISS PHONNAPAT BSP | phonnapatsa@ssi-steel.com | INCOMPLETE 23-Feb-2016
50 | 11600756 | 9-Feb-2016 | CONZz30908 |FoR\oi: FTTING STAR-FIT S/16T # 06 (K00400-06) SAE 12064 TYPE B 5.00| Each SAKHAN, MISS PHONNAPAT BSP | phonnapatsa@ssi-steel.com | INCOMPLETE 23-Feb-2016
51 | 11600757 | 9-Feb-2016 | CONZz30909 [FERROLE FIITING STAR-EIT 1720 # 10 (K00400-10) SAR 12064 TYPE B FOR 5.00| Each SAKHAN, MISS PHONNAPAT BSP | phonnapatsa@ssi-steel.com | INCOMPLETE 23-Feb-2016
52 | 11600758 | 9-Feb-2016 | CONzz30912 |FiiINGJIC 377 FEMALE SWIVEL NUT ELBOW 90 7/16-20 UNF ( 0404) FOR 5.00| Each SAKHAN, MISS PHONNAPAT BSP | phonnapatsa@ssi-steel.com | INCOMPLETE 23-Feb-2016
53 | 11600837 | 9-Feb-2016 | CONZZ18540 |COMPOSITION PAPER (4 COPY) SIZE 9"x8.5" (s 2 &) 15,000.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Feb-2016
54 | 11600831 | 9-Feb-2016 | CONZZ25972 |COMPOSITION PAPER (2 COPY) SIZE 9"x8.5" (¢ 2 &) 7,000.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Feb-2016
55 | 11600857 | 9-Feb-2016 | CONZZ29670 |COMPOSITION PAPER (3 COPY) SIZE 9"x8.5" (s 2 &) 11,000.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Feb-2016
56 | 11601092 | 12-Feb-2016 | CONZZ30511 |medinwan "Tus" (25 KG/BOX) 200.00| Kilograms | PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Feb-2016
57 | 11601093 | 12-Feb-2016 | CONZZ30512 |sheanoviastih (VIGSAL) 2wa 900 ML. 24.00| Bottle PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Feb-2016
58 | 11601094 | 12-Feb-2016 | CONZZ30514 |lLinnadau (athowun) 18.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Feb-2016
59 | 11600962 | 9-Feb-2016 STA1004275  |thammilagads 1na 0.8*5 was 4.00] Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Feb-2016
60 | 11601141 | 10-Feb-2016 | STA1004276 |BBS CARD filatulasonis BBS (1w = 100 usiu) 150.00| BOOK PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Feb-2016
61 | 11600817 | 9-Feb-2016 STA2000004  |NAME CARD i wuy 2 8 100.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Feb-2016
62 | 11600894 | 9-Feb-2016 STA2000004  |NAME CARD A wuu 2 & 400.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Feb-2016
63 | 11601120 | 9-Feb-2016 STA1000485  |wily 3" 10.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 23-Feb-2016
64 | 11601122 | 9-Feb-2016 STA1000528  |meaudusa 50.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 23-Feb-2016

Page 2 of 3




PR Received dated 8 Feb 2016 - 14 Feb 2016

Offices Supplies & Consumble Parts

Post Dated 15 Feb 2016

Serial PR No. Do‘:;':::nt Item Code PR Line Description PR Qty Unit Buyer B:i\::r EMAIL ADDRESS PR Status RFQD;::::Zing
65 11601121 9-Feb-2016 STA1000529 Thenaudfia 24.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 23-Feb-2016
66 11601123 9-Feb-2016 STA1000572 wilniunszany e Ad 400.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 23-Feb-2016
67 11601134 10-Feb-2016 STA1004277 wiin PRINTER CANON CARTRIDGE 418C v 2.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 23-Feb-2016
68 11601135 10-Feb-2016 STA1004278 uiin  PRINTER CANON COLOR LASER CARTRIDGE 418 ¢ (MF8350C) 2.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 23-Feb-2016
69 11601136 10-Feb-2016 STA1004279 wiin PRINTER CANON COLOR LASER CARTRIDGE 418 2uy (MF8350C) 2.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 23-Feb-2016
70 11601137 10-Feb-2016 STA1004280 ufin  PRINTER CANON COLOR LASER CARTRIDGE 418 wdas (MF8350C) 2.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 23-Feb-2016
71 11600732 10-Feb-2016 CONZZ17414 O-RING 710204 ID. 7.7x1.6 FOR KRESS 6.00 Each PHETPHO, MR. TANAPOL BKK tanapolp@ssi-steel.com INCOMPLETE 23-Feb-2016
72 11600733 10-Feb-2016 CONZZ17415 SI_I?I'IQRGGPP/—NEI%IJG7I:I;\ISE4O(ILIDCl)F8.|?;é.SSSmm.) VITON (BROWN COLLOR) FOR 30.00 Each PHETPHO, MR. TANAPOL BKK tanapolp@ssi-steel.com INCOMPLETE 23-Feb-2016
73 11600835 10-Feb-2016 CONZZ19598 SEAL O-RING P/N 4K6804 FOR WATER PUMP OF KRESS 1.00 Each PHETPHO, MR. TANAPOL BKK tanapolp@ssi-steel.com INCOMPLETE 23-Feb-2016

Page 3 of 3




